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[1] PCB¥H 74 X324 XT3
[-1]E/ 7t 7 ==L tr(0.2) 0.2 0.6
[12]¥P7aRrbE 7 x=/H nd 5 15
TR EELE Y tr(11) 8 24
14T Fo7mpb7 ==Lk tr(20) 7 21
[1-4-11 27T F—PCBD H 5 33 44-F7 hT/un b7 ==L (£77) 0.3 0.1 0.3
[1-42] 277 F—PCBD 5> H 344,57 hF7unb 7=, (#81) nd 0.09 0.22
[15] X% /7nnb 7 ==Lk 24 2 6
[1-5-11 27T F—PCBD 9 5 2,33 44 F7un b7 z=/L (#105) 1.1 0.2 0.4
[1-52] 27 ZF—PCBDH 5 23445 Fr7unbe 7=/ (#114) tr(0.1) 0.1 0.3
[1-5-3] 27T F—PCBD 9 5 2,3 44 5~ FZ7nn b7 =/l (#118) 2.7 0.2 0.4
[1-5-4] = 7T F—PCBD H 5 2' 344 52 FZ7nn b7 =/l (#123) tr(0.1) 0.1 0.3
[1-5-5] 275 F—PCBD 9 5 3,3 44 5-2FZ7nn b7 =/l (#126) nd 0.2 0.4
[1-6] ~¥HF 7 mno b7 ==Lk 14 0.9 2.7
[1-6-11 27 FF—PCBD > H 2,33 44 5~F /a7 x=/L (#156) 0.38 0.09 0.22
[1-6-2] 27/ ZF—PCBD H H 2,33 44 5~FV oo rz=L (#157) tr(0.1) 0.1 0.3
[1-6-3] =277 F—PCBD 5 H 2,3 44,5,5-~F ¥ 7uub 7=/ (#167) tr(0.1) 0.1 0.3
[1-6-4] =7 ZF—PCBD 5 H 3,3 44,5,5~F ¥ 7uob 7=/ (#169) nd 0.08 0.21
[1-7]~T % Z7au b7 =/ 3.7 0.6 1.7
[1-7-11 27 FF—PCBD > H 2,233 44,5~ Xt 7 ==/ (£170) 0.5 0.1 0.3
[1-7-21 27 ZF—PCBD H H 2,2' 34455~ ¥ 7une 7=/ (#180) 0.9 0.1 0.4
[173]:!777‘—PCB(/)9%233 44'55-~F 2 o7 ==/L (#189) nd 0.1 0.3
(18] A7 Z /77 ==L} tr(0.6) 0.3 0.7
[1-9] /F 7 mub 7 ==Lk tr(0.2) 0.2 0.6
[1-10] 77 v b7 = =)L tr(0.22) 0.09 0.23
[2]HCB (~"FH# 27 pn_o¥Y) 50 4 13
[6] DDTJH 34 X325 XKT.2
[6-1] p,p'-DDT 10 0.8 2.4
[6-2] p,p'-DDE 12 0.8 23
[6-3] p,p'-DDD 7.0 0.08 0.20
[6-4] 0,p'-DDT 2.1 0.5 1.5
[6-5] 0,p'-DDE 0.59 0.09 0.24
[6-6] 0,p'-DDD 2.6 0.2 0.6
[7] 7 =T 3R 130 HK12 K34
[7-1]cis-7 v VT v 47 4 11
[7-2] trans-Z &2 LT > 37 4 13
(731 A X7 a s 4.4 0.3 0.7
[7-4) cis-/ F 7 v v 11 0.4 1.3
[7-5] trans-/ F 7 v v 33 3 8
[8] ~7" & 7 v L¥H 17 K14 33%3.9
[8-1] ~T X 7 aL nd 0.7 22
[8-2] cis~TF X 7 LT RF LR 17 0.2 0.4
[8-3] trans-~7 ¥ 7 o )L ARF T R nd 0.5 1.3
[11-1] a-HCH 270 1 4
[11-2] p-HCH 240 0.7 2.0
[11-3]y-HCH (3% : V> T ) 23 2 6
[11-4] 3-HCH 30 0.3 0.8
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(1217 arFay 0.25 0.04 0.09
[13]~FH T rEL T ==L nd 1 3
(4] RV TeEY T 2=Lx—T VI (BRERDPANDI0ETOHD) tr(270) XOX110 X3%340
[14-117 F I 7 uey 7 2= —7 )LIE tr(3) 3 9
[14-1-1122'44F 57 uEY 7 2= Lx—5 /L (#47) nd 3 9
[142] XU # T REY T 2= )Lo—F UM tr(2) 1 3
[14-2-1]122' 44 524 7 0Ey7 ==L —F )L (#99) tr(2) 1 3
[143] ~FH T uEY T =L —F LA tr(3) 2 4
[14-3-1]12,2'44' 55 ~F VT 0y 7 2 =/Lo—F /)L (#153) tr(2) 2 4
[14-3-2]2,2'44' 5,6 ~F VT 0y 7 2 =/Lo—F /)L (#154) nd 2 4
[14-4] ~NTHZ T UEY T ==L —F LA 4 1 3
[14-4-1122'3345,6-~FT 47 nEY 7 2= Lx—F )L (#175) KO 4 1 3
[14-4-2]2,2'344'.5,6-~7 X7 0EY 7 = )Lx—F /L (#183) OHEHE
(1451 A2 # T REY T == )Lo—F UM 10 1 3
[14-6] /T 7 UEY T == )L=—F LA tr(18) 7 21
(147N T AT BET T 2= LT—F )L tr(230) 100 300
[15] v 7 vFuad s 2 ANk B (PFOS) 2,100 20 50
[16] ~Uv 7 A a2y % (PFOA) 5,400 20 60
7] X 7aaxo v 48 1 4
[19] R U ZF LR (AW nd 100 200
[20] NV 7 ==V X X(LEW nd 50 120
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